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6.831($70,1,675%7,91(6/8a%(,1 63/231( -$91( 12.38 10274 82,87
" UXJH VNXSOH DGPIQLVIVDILYOH VIXAEH 1238 10274 82,87
. JYHGED SURIRNRIDUQLK GRIRGNRY 3.000 3500 116,67
3UUHGLIYH RE SUDJQINIK Y .6 3.000 3500 116,67
" UXJL RSHUDILYQL RGKRGNL 3.000 3500 116,67
5D]SRIDIDQIH LQ XSUDYNIDQIH ] REJLQVNLP SUHPRzHQIHP 0.398 6.774 72,08
8SUDYOIDQIH LQ IHNRpH Y]GUAHYDQIH SRVIRYQLK 1Q GUXJLK REIHNIRY 4,398 6.774 154,02
(IHNIVLHQD HQHUJUD 1.569 1613 102,80
3RUDED NXULY 1Q VIUR&NL RIIHYDQID 1.556 1800 115,68
9RGD [Q NRPXQDIQH VIRUIYH 497 511 102,82
7HNRpH Y]GUAHYDQIH SRVIRYQLK REIHNIRY 100 2200 2200,00
=DYDURYDIQH SUHPUH 1D REIHNIH 676 650 96,15
,QYHVILFUH LQ LQYHVILFLIVNR Y]GUAHYDQIH SRVORYQLK LQ GUXJLK 5.000 0 0,00
1DNXS RSUHPH 1D KIDIHQIH LQ RJUHYDQIH IHU QDSHIDY 5.000 0 0,00
/2.3$/1% 6$02835%$9% 11304 12328 109,06
BRIQDOFLDOIH GHIDYORVIL REDIO RAILK GHIRY REBLO 10 TYH] REDIQ 10.804 11728 108,55
" HIRYDQIH RelLK GHIRY REY1Q 10.804 11.728 108,55
PDIHULDIQL VIURANL LQ VIRULIYH 7.061 7955 112,66
3VDUQLANL PDIHILDY 1Q VIRUIYH 300 330 110,00
yIVILIQL PDIHUD) LQ VIRUYH 140 160 114,29
JGDIN. ]D UHSUH]HQIDQFR 100 100 100,00
" UXJL VSIR&QL PDIHUD) [Q VIRUIYH 50 70 140,00
THHIRQ IHIHNV IDNV HIHNIRQUND SRAID 1.200 1300 108,33
3RAIQLQD LQ NXUVNH VIRUIYH 150 160 106,67
7HNRpH Y]GUAHYDQIH VIRIQH UDPXQDIQUANH RSUIHPH 50 500 1000,00
31DplID SR SRIRGEDK R GHIX 2.500 2600 104,00
31DplD D GHIR SUHNR &IXGHQIVNHID VHUYLVD 1.000 1100 110,00
3IDPUR VIRUWHY RIJDQUIDFUDP SRREIDAPHQLP 1D SIDpLQL SURPHI 30 50 166,67
" UXJL RSHUDILYQL RGKRGNL 1541 1585 102,86
30DpLID IXQNFLRQDUIHY 3.743 3773 100,80
6HIQLQH XGHIHAHQFHP RGERIRY 2343 2373 101,28
" UXJL RSHUDILYQL RGKRGNL 1.400 1.400 100,00
* HIDYORVI RELQVNH XSUDYH 500 600 120,00
5D]SRIDIDQIH LQ XSUDYUIDQIH V SUHPR&HQIHP SRIUHEQLP 1D 500 600 120,00
,QYHVILFUH LQ LQYHVILFUIVNR Y]GU&HYDQIH SRVIRYQLK SURVIRURY 500 600 120,00
1DNXS GUXJH RSUIHPH LQ QDSHIDY 500 600 120,00
2%530%%$,1 8.5(3, 2% ,=5("1,+ "2*2" . + 600 600 100,00
&1Y100D JDAhIID 10 SURILSRADUOD YDUORVI 600 600 100,00
3URILSR2DUQD YDUQRVY 600 600 100,00
" HIRYDQIH JDVLOVNLK GUXAIHY 600 600 100,00
" UXJL VSIR&QL PDIHUD) 1Q VIRUIYH 600 600 100,00
3520(7 3520(71%$,1)5%$6758.785% ,1 .2081,.3$&,-( 55.737 7738 13,88
&HVIQL SURPHI 10 LOIDVIUXNIXUD 55.737_ 7738 1388
8SUDYNDQIH LQ IHNRYH Y]GU=HYDQIH REJLQUNLK FHVII 21.310 2738 12,85
8SUDYNDQIH LQ IHNRpH Y]GUAHYDQIH IDYQLK SRIL LQ FHVIQLK REIHNIRY 21.310 2738 12,85
THNRDH Y]GU&HYDQIH GUXJIK REIHNIRY 21.310 2738 12,85

,QYHVILFLIVNR Y]GUzHYDQIH LQ JUDGQID REYLQVNLK FHVII 34.421 5.000 14,52
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JQYHVILFLIVNR Y]GUSHYDQIH IDYQLK SRILLQ FHVIQK REIHNIRY 34,427 5000 14,52
LQYHVILFUVNR Y]GUAHYDQIH LQ LJERNADYH 34.427 5000 14,52
35267256.2 3/$1,5%1-(,1 67$129%$1-6.2 8.356 8535 102,14
RPX0DIOD GHIDYQRVI 8.35%6 8535 102,14
BUHIDQIH SRNRSDILAY 1Q SRIVHEQD GHIDYQRVI 8.356 8535 102,14
5HGQR Y]GUAHYDQIH 1Q GHIRYDQIH SRNRSDIL&D LQ PULANLK YHALF 8.256 843 102,17
9RGD 1Q NRPXQDIQH VIRIIVH %0 100 111,11
2GYR] VPHIL 2.566 2635 102,69
7HNRbH Y]GUSHYDQIH GUXJIK REIHMIRY 5.600 5700 101,79
LQYHVILFUH LQ LQYHVILFUIVNR Y]GUAHYDQIH SRNRSDILED 1Q PULANLK 100 100 100,00
1DNXS GUXJH RSUHPH Q QDSHIDY 100 100 100,00
.8/785% &3257,11(9/$"1(25*%$1,=5&,-( 700 700 100,00
3URJUDPLY NXIIXIL 700 700 100,00
- QULZQLYDUVIVR 1Q JDIR2QLAIVR 700 700 100,00
" HIRYDQIH YDANH NQILAQLFH 700 700 100,00
3IDlID JD GHIR SUHNR &IXGHQIVNHJD VHIYIVD 700 700 100,00

89.095 40.175 45,09




